
 

Page 1 of 6 

  YS27ZZ7 
  II, 2016-17

SUMMATIVE ASSESSMENT – II, 2016-17 
 / MATHEMATICS

IX / Class – IX 
: 3 hours  90 

Time Allowed : 3 hours    Maximum  Marks: 90 
 

 

1.  

2. 31 4 

1 6 2 10 

3 11 4 
 

3. 

4. 

 

General Instructions: 

1. All questions are compulsory. 
2. The question paper consists of 31 questions divided into four sections A, B, C and D. 

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions 
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D 
comprises of 11 questions of 4 marks each. 

3. There is no overall choice in this question paper. 
4. Use of calculator is not permitted. 
 

 

  / SECTION-A  

  1  4 1 

Question numbers 1 to 4 carry one mark each. 

 

 1 3 7y ax  a

If the point (3, 4) lies on the graph of linear equation 3y = ax + 7, find the value of a. 

1 

 2 1

4
 

A fraction becomes 
1

4
when 2 is subtracted from the numerator and 3 is added to the 

denominator. Represent this situation as a linear equation in two variables. 

1 

 3 

Construct an obtuse angle and draw its bisector. 

1 

 4 2 m 20 cm  

Find the number of small cubes with edge 20 cm that can be accommodated in a cubical box of 
2 meter edge. 

1 

  / SECTION-B  
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  5 10 2  

Question numbers 5 to 10 carry two marks each. 

 

 5 O A, B, C D DC E 

BCE85 BAD BOD  

 
In the given figure, O is the centre of the circle passing through the points A, B, C and D and 

DC is produced to a point E. If BCE85, find BAD and BOD. 

 

2 

 6 PQR QSR QR PSQRQS 

ar (PQR) 12 cm2  ar (QSR)  

 
PQR and QSR lie on same base QR.  Also, PSQ  RQS. 

If ar (PQR) 12 cm2, find ar (QSR). 

 

2 

 7 O AC BD P 

APB120 PBC15 ADB  

 
In the given figure, O is the centre of the circle and chords AC and BD intersect at P such that 

APB120 and PBC15. Find the value of ADB. 

2 
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 8  5 cm 13 cm   

(3.14 ) 

Determine the volume of a conical vessel having radius of the base as 5 cm and its slant height as 13 
cm. (Use 3.14) 

2 

 9 1000

455 545

A coin is tossed 1000 times with the following frequencies: 
Head : 455, Tail : 545 
Compute the probability for each event. 

2 

 10 32% 

If probability of failure of an event is 32%, find the probability of success of this event. 

2 

  / SECTION-C  

  11 20 3   

Question numbers 11 to 20 carry three marks each. 

 

 11 5xy6  

(a) x-    (b) y-  

Represent 5xy6 by a graph.  Write the coordinates of the point where it meets : 
(a) x-axis    (b) y-axis 

3 

 12 x y x2 y1 

  

How many linear equations in variables x and y can be satisfied by x2 and y1 ?  Determine any 
two of these equations. 

3 

 13 10 cm SR 4  

Draw a line segment SR of length 10 cm. Divide it into 4 equal parts, using compass and ruler. 

3 

 14 AB  CD AC ABCD  

AB and CD are two parallel chords of a circle whose diameter is AC. Prove that ABCD. 

3 

 15 PQRS PR QS A  

ar (PSA)ar (QAR)ar (PAQ)ar (SAR)   

 
Diagonals PR and QS of quadrilateral PQRS interact each other at A. Show that ar (PSA)ar 

(QAR)ar (PAQ)ar (SAR).  

3 
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 16  100 cm 

  

How many litres of water will a hemispherical bowl of radius 100 cm contain and find its 
curved surface area? 

3 

 17 18  

79, 28, 45, 99, 3, 46, 8, 0, 3, 7, 24, 73, 122, 46, 27, 16, 7, 3 

0 - 25   (25 

)  

The following are the runs made by 18 players in one day cricket match : 
79, 28, 45, 99, 3, 46, 8, 0, 3, 7, 24, 73, 122, 46, 27, 16, 7, 3 
Form a frequency table for above data with equal class intervals one of these being 0 - 25 
(excluding 25). 
 

3 

 18 

 

There are 100 students in a class. The mean height of the class is 150 cm. If the mean height 
of 60 boys is 170 cm., find the mean height of the girls in the class. 

3 

  / SECTION-D  

  21  31 4   

Question numbers 21 to 31 carry four marks each. 

 

 19   

x0, y0, xy3. 

Draw the graphs of the following equations on the same graph sheet : 
x0, y0, xy3. Also, find the area enclosed between these lines. 

4 

 20 5 5 

x  y 

 

5 years ago, Ramesh was 5 times as old as his son Aman was then.  Let present ages (in years) 
of Ramesh and Aman be x and y respectively.  Write the given data in form of a linear 
equation in two variables.  Also, represent it graphically. 

4 

 21 

 

Prove that the angle subtended by an arc of a circle at the centre is double the angle subtended 
by it at any point on the remaining part of the circle. 

4 

 22 EFGH EG  FH, X ar(EXF) ar(EXH) 

ar(GXF)ar(HXG)    

EFGH is a parallelogram with diagonals EG and FH meeting at a point X. Show that 

ar(EXF)ar(EXH)ar(GXF)ar(HXG) 

4 
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 23 XYZ ‘a’ XYZ O XO, YO  

ZO A, B  C ar(XYZ) ar(ABC)    

  
XYZ is an equilateral triangle of side ‘a’ units. O is a point inside XYZ such that points A, B 

and C are mid-points of XO, YO and ZO respectively.  Find ratio of ar(XYZ) and ar(ABC).   

 

4 

 24 

551 m2 7 

m  1 m2

(
22

7
) 

Deepika on her way to home saw some homeless persons sleeping in the park in a winter night.  She 

gave them her canvas of area 551 m2.  They used it to make a conical tent with a base radius of 7 m.  
Assuming that all the stiching, margin and wastage incurred while cutting, amounts to approximately 1 

m2,  find volume of the tent that can be made with it. Which value is depicted by Deepika? (Use 
22

7
) 

4 

 25 1 : 2 : 4 ` 5 

 m2 ` 80  

A cube and cuboid have the same volume.  The dimensions of the cuboid are in the ratio of 1 : 
2 : 4.  If the difference between the cost of polishing the cuboid and the cube at the rate of ` 5 

per m2 is ` 80, find the edge of the cube. 

4 

 26  21 m   

10 cm  6 cm 

 

A hollow cylindrical iron pipe is 21 m long. Its outer and inner diameters are  
10 cm and 6 cm respectively. Find the volume of the iron used in making the pipe. Also find 
the outer surface area of pipe. 

4 

 27 100 80

0-20 21-39 40-60 61-80 

18 19 23 20 

50% 

(a)  

4 
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(b)  

(c) 21  

The marks of 100 students (out of 80) in English speaking skills was recorded as follows : 

Marks 0-20 21-39 40-60 61-80 

No. of students 18 19 23 20 

If the passing marke are 50%, then find the probability that the student choosen at random : 
(a) got the passing marks. 
(b) failed to get the passing marks. 
(c) got below 21 marks. 

 28 

 

50-55 
55-60 
60-65 
65-70 
70-75 

12 
8 
14 
10 
6 

Draw a histogram and a frequency polygon for the following table : 

Class-intervals Frequency 

50-55 
55-60 
60-65 
65-70 
70-75 

12 
8 
14 
10 
6 

 
 

4 

  य/SECTION-E  (   /Open Text)  

   
                 (* Please ensure that open text of the given theme is supplied with this question paper.) 

 

Theme :  Solving Mystery of messed up fields. 

 

 29  

 
Angles of Rehman’s field are in the ratio 3:2:4:3. Find all the angles. 

3 

 30 ABCD    A  C

 

In Uttapa’s field ABCD if    bisects A, then prove that it also bisects  C. 

3 

 31 ABCD AB, BC, CD DA P, Q, R 

S PQRS  

 
Let Krishna’s Field is ABCD and P, Q, R and S are mid-points of sides AB, BC, CD and DA. 
Prove that PQRS is a parallelogram. 

4 
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